IO BI Qummi

S sn.Gagmmmo euiom, SO G (PHATEMWDLE &H6LEN
& Caiayser Swé G, SDIGIGUGVITEH6IT.

@& e6rement — 600 006.

15.8.6T600T. 017888/19(4)/2023 BeiT : 27 12.2023

2w/ b emiou§iy,

OunpeT: DwESH CHiaseT SWeHessD, OFcTomn—6 — Sl BErH
earysll UGS LmewTalisEnsasTer Spearmied Csie (TRUST),
lp&FlOLIT 2023 - eSlemL&@& MOy (Tentative Key Answer) —
SemeonugendSlev CeuaflGihsHcv — OFM_funs.
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1612.2023 Sicorm BooL Oubm SUHPETE 2amysl UGS  LTETEIIT & 6ThS &iTer
Smermileyd Csiie) (TRUST) &bubslonet &henedls ellenL & @mluShH (Tentative Key
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wrewreiser whmd uHGmmiser SeualeoL&@GMOSEH &miurs  wLIHMHD
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Wledreorehder (waauflsEe 2 flu pesmdHL &1  OsfleSésoomd  6166Tm
oSlarsSlener  Siemesg  ueTelfl  HemevemwnSlfuiiesné @ @5 fleNs@&wrmy
Go1_{é @sneremIUGSDS.
6L/~
SuEGSDT

H&HOL © —

1. Sicm6oiH G LML L T8 S Gaiioyser 2_gail SWéH (&I &6iT
2. v G el L & &l Signiaueuiserr (@l iflemeu)



3T&S5CHIYsT QUSSHSLD

Q& 6sTEM6ETT-6

oe1 &G Slmenmileyd CaIey - SMETISE allemL_&@GMILL

A&amanedls allmL&@hiuusaiey gCsHamid LTHMLD
Csflallss el (LD Tl6TTTEL 05.01.2024-M)(& 61

AHMSHSIL 60T AT m6uss SMla|mssLLGEDS.



MATHEMATICS / senflgib

1. The number of digits in the square root of | 1. 27225 -@er aiés qp@jdgdre
27225 s : Qessisaien eranalEans :
@ 3 2 4 @ 3 2 4
@ 1 4) 2 3 1 @4 2
2.  The square root of the 12" Fibonacci number | 2. 12 -aug GuCairdl aanaiian airss
is : fLpauLD
0 » @ 13 QO » @ 13
(3 1 (4) 10 (3 1 4 10
3.  Whatis 25% of 30% of 600 ? 3. 600 -@er 30% wdulld 25% sremug)
1) 40 @ 45 (1) 40 O s
(3) 25 (4) 30 (3 25 (4) 30
3 B oono s K o :
4. Number of rational numbers between = and 4. - wppd > -8 GeGw edrer
; is: fflspn cramsafiar canaflEams :
m 7 (2) 6 (1) 7 @) & * Neoplion
(3) 8 (4) 9 (3) 8 (4) 9
5. The range for the given data is 5. GOsr@ésiu’ feen sreysallan elss
25, 24, 20, 25, 16, 15, 18, 20, 28, 16, 25, 16, 25, 24, 20, 25, 16, 15, 18, 20, 28, 16, 25, 16,
15, 18, 28, 16, 24, 18, 25, 15, 27, 20, 20, 27, 15, 18, 28, 16, 24, 18, 25, 15, 27, 20, 20, 27,
25. 25,
(1) 15 (2) 10 (1) 15 (2) 10
O » @ 12 (© JRE @ 12
IX-23 3 PT.O.
ol msmf h- rp@} FIBNG BB - (5 1 9515) pairl 1y Smisafios Sy

Blor PENTEHPN D e N HE) _ztsfﬁﬂ.fv-b X8 Loy Aol Bigans 9l
Ol o amp 1 B BER AW oAb Dusy auomis bl




A flagpole 20 m high casts a shadow of 4 m
at 10 a.m. The shadow cast by a building at
the same time is 10. 4 m. The height of the
building is :

Q 52 m 2) 50m

(3) 53m (4) 49m

The sum of two numbers is 46 and one
number exceeds another by 12. The greater
number among the two is :

@29

(3) 31 4) 25

(1) 34

When a number is increased by 20%, it
becomes 456, then the number is ;

@ 380

(3) 320 (4) 300

(1) 350

If the area and sum of the parallel sides of a
trapezium are 60 cm? and 12 cm respectively,
its height is :

(1) 72cm (2) 12 em

@ 10 em 4) 48 em

1X-23

20 8. e wrapdter G Q5Ted SbULTEE
srena 10 wenfla@ 4 8. Berpperer Hlpena
ahudsadng. =6z Cprsde em
sl sdlen Hlpdlen fevioreans 10. 4 &
srefled, S gflem 2w

Eren(® eransaflen s 46. Supmer
@f erar wHCpri eramenew il 12
SFsd qaflld, eddp darsaia

@uflw erer :
@ 29

3 31 ) 25

(1) 34

@ ereamenanr 20% dlafiEa@nGung 456
fleoo sdlpg erafie), sbs ere :

@ 380

(3) 320 (4) 300

(1) 350

sfleusgdlen Urliuerab, Sigen (G eanat
usstisaflen s Bsa) o wpanGu 60 Qs 82
wHmb 12 Gs.b erafld, sigan 2w
(1) 72 @s.b. (2) 12 Qs.8,

@ 10 Qa8 4) 48 Qs.8.



~10. Find the incorrect statement from the
following :

(1) Every positive number is greater than
zero.

(2) Zero is a rational number which is
neither positive nor negative.

(3) Every negative number is smaller than

ZETO.

Every number on the right of a number
on a numberline is lesser than that
number.

11. [If the ratio of the cost price and the selling
price of an article is 5 : 7, then the profit
percentage is

(1) 50 2 70

@4&

12, If the area of the rectangular painting is

(3) 20

12x%! and its length is 41y, then its breadth
is:

e Axy (2) 622y

@ 3’ (4) axy?

13,  Number of edges, faces and vertices in a cube

i15:
1) 68 12 e 12,6, 8
(3) 8126 4) 6128

I1X-23

10.

11.

12,

13.

15l 681 6u (1 cu eateu D IUET HEUDITE Sapenmé

sam_Hlweyb :

(1) geuCleurgy (Hlens eramapbd
wEflwugens el Quflwsnesib.

(2) pFfunrag Baswd SHoars
GEPUD Svans Gn HEsupD
T GRTEWT (FHLD.

(3) eaCarm @& en o &l w aier gy 1D

WEHlwgeng ebli & HPlwuigms.

@ ereir Garligen Bgemer i

GTEATERTIEN EURGIL|DIONG DELOLILD

@auCGeurt erergmilh ks ereRTanamT

all& #AflwgmE.

om Curmefer =_&s elener wHmibd
cdipuenen efleneufen eflfsin 5 : 7 eraflé,
Qoru sgeligd

(1) 50 @ 70

(3) 20 a 40

gm Gsdaeas aga galusen
urtieray 12x%4, sigen fiend du erafied,

SHEE SASESID

0 @ 6

3 3xy? (@) 40

em  sasgrsde sawhgeern
efleflibysdr, (psmsdr whmb o Ffsaflen
eramemiisena :

(1) 6,8 12 @ 12,6, 8

(3) 8126 (4) 6,128

P.T.O.




14. Match the following :

(a)a+b = b+a (i) Associative

property
(if) Commutative

property

{c) a+(—a)=(—a)+(a)=0 (iii) ldentity

property

(b)a+0 = 0+a=a

(d) (a+b)+c=a+(b+c) (iv) Inverse

property
@ (a)-(i), (b)-(iid), (c)-{iv). (d)-(i}
() (@)-id), (b)-(iv), (c)-(i), (d)-(ii)
(3)  (a)-(iv), (B)-(3), (c)-(ii), (d)-(iii)
(4)  (a)=(ii), (b)=(iv). (c)-(i), (d)-(iii)

15. If the circumference of the circle is = units,

then its radius is

(1) 1 unit (®) % unit
1

(3) 1 unit (4) 2 units

16. Four persons finished making ten chairs in
12 days. How many persons are needed to
finish 15 chairs by working in 12 days ?

@ 6 @ 8
(3)

10 @) 12

1X-23

14. Gurmass.

(a) a+b = b+a (i) Garlyd
LIy

(b) a+0 = D+a=a (i) ufirHml
LiemmL)

(c) a+(—a)=(—a)+(a) =0 (iii) sl Lakry
(d) (a+b)+c=a+(b+c) (iv) Cpmomy
LIGRTLY
@ (a)-(id), (b)-(iid), (c)-iv), (d)-(3)
(2)  (a)-(iii), (b)-(iv), (c)-(). (d)(ii)
(3)  (a)-(iv), (b)-(i), (c)-(ii). ()-(iii)
(4)  (a)-(id), (b)-(iv), (c)-(i), (d)-(iii)

15. @ allL flar shpare) v @GS
eTafleh, =iHem T :

@ ;oo

2 QOGS

(1) 196

1
() ees @)

16. 4 purser 12 priser Ceuenaw Glalig 10
Amamssomear Gsig wpgsdldapeni
ailed, eTisenan pUiEET 12 prisdr
Geuenew Clalig 15 @mémasaer Calig)

(g LT ?
0 6 (2) 8
@ 10 4 12



17.

The area of a rectangle of length 8 cm and
diagomal 17 cm is :

o 120 em? (2) 150 cm?

(3) 136 em? (4) 255 cm?

18. In how many years the Principal of ¥4000
becomes T 5440 at 12% p.a, in simple
interest ?

§
(1) 4 @ 3
' (3) 5 @ 2

19. of a triangle serves as the centre
of gravity for any triangular lamina.
(1) Orthocentre
(2) Incentre

@ Centroid
(4) Circumcentre
200 N
L
)
@,
L sem M
Area of ALMN is
(1) 65 cm? (2) 60 cm?
@ 30 cm~ (4) 25 em?
I1X-23

17.

18.

19.

farib 8 Qs wHhmd apeeeliib
17 Glg.i8. semaieniiu gy deducusiien
urluera

(2) 150 @s.u82

(4) 255 @s.B?

sefleu’y @repuie T 4000 =5

SaTBéE 12% aly Gdzsde

Cursss Qgrens T 5440 & aggenan

< n(H&EET LG 7

(1) 4 @ 3
4 2

(3 5

erpsGeurm wasCsrem uLasfhEh
yeriiiy ewvwwrss SHspaug

w&CareansSlen )
(1)
(2)

o

(%)

LlemCam_() eniin
& graul L. eplowiLn
pHECET_H enwuid

SOOI enowiD

L 5@s8 M

ALMN -@len urlueTey

(1) 65 Gle.B2, (2) 60 Q&.5°
@ 30 Glg.15° (4) 25 Qs.?
PT.0.




21. If y=0, then the point (x, 0) lies _

(3) Parallel to x axis

(4) Parallel to y axis

22. The polygon which has four equal sides is :

(1} Rectangle (2)

@ Rhombus (4)

Trapezium

Parallelogram

23. (16y°-8y?) + 4y =
M 6t-2y @) avt-zy
(3 8y'-2 (4)  4y—8y

#
24. The difference between the Compound

interest and Simple interest for 2 years for a
Principal of ¥ 5000 at the rate of interest 8%

p.ais ;
0 = 2) 64
@ 16 (4) 40

25, ______ is a Pythagorean triplet,
1) 12,16, 21 @ 6, 8, 10
(3) 10, 24, 28 (4) 512,14

1X-23

21. y=0erafle (x, 0) eremp wemall syenneusy

e x Si&8len gy
(2) yoFdlar g
(3) 1 Es&E Geneawnurs

(4) v -2F&HEG @eramuirs

22. mrem@ SLLUEERS@ETE QsTETL
vaCsramd
(1) Qscuaustd (2) sfleusbd
@ SMUEE|TLD (4) QenemsTid

23, (16y°—8y%) +4y=

M wi-2y Q) -z

(3) 8y*-2 (4) dy-8y

F
24. TS5000 -&5 8% San(® alguilé, 2
HanHEE mLH ewlgsgn saf
lnaEn el Cuwdarsr dlsfunsb

(21 64

32
3) 16 4) 40

25. agaug @ SarGarfluen
ppenmmid Qsr@SuimeEb.

1) 12,16, 21 @ 6, 8, 10
(3) 10, 24, 28 4) 512 14



SCIENCE / ifleflwev

26. The magnetic axis of the earth is inclined at

an angle of about with the

geographical axis.
(1) 15°to 20°
O o
(3) 5 tol0¢

(4) 20° to 25°

27. The first electroscope developed by William
Gilbert was called as ;

(1) Zirconium (2)
@ Versorium

28. Quartz clocks have an accuracy of one second

(3) Uranium

in every seconds.
(1) 10 (2) 100
@ 109 (4) 104

29. Pick out the incorreet pair.

Transformation of substance from one state
to another due to heat energy.

0 Liquid to gas - Deposition

(2) Solidtoliquid -  Melting

(3) Gastoliquid - Condensation
(4) Liquidtosolid - Freezing

1X-23

26. &g sFsTang, el EADG
FTGITS Bien0hEaTaTEy,

(1) 15 apged 20° cueng

(8]

(3) 5° gpzer 10° eueny
(4) 20° apsev 25° auenry

107 apged 15° eueny

27. @b HOuil arueagTe s
pawrs e meurdsiulL. Hlenaulen

ST Ig TR SIEPESILIL LI
(1) #ArGsraflubd (2) GClpLgrLeflub
3) wCreflwb GleurGemfliib

28. @aurilay sysrriseiiar sodlug

SeMenLDWIMEns) ellenimg SiEndE
S e e Serelld BHEGLD.
(1) 10¢ (2) 10"

@ 107 (4 104

29. Qummbsrs garens CaibosHasalb.
Geutiu < mpe srremnons Gumm _seaflen
Peovwsald ghuBbn wrHpb :

@ SHraud auryeurs - Liged
DT pISE0

(2) S uQunmer S NG
Hreuwnrse -

(3) eumy dreunns - @eflige
NG

(4) Hyoud Al - 2eapED
QummenTs WTHISHED

PT.O.




30.

Indian Deep Space Network (IDSN) is
located at :

(1) Cochin
(2) Visakapatnam
@ Bylalu
(4) Sriharikota
31. A sound has a frequency of 50 Hz and a speed
of 500 ms~!. The wavelength of the sound
is :
(1) 5m @ 10 m
(3) 25m (4) 20m
32. Rain drops are spherical in nature due to :
(1) Force
(2} Pressure
6 Surface tension
(4) Friction
33. I two plane mirrors are inclined to each other
at an angle of 60° the number of images
formed are ;
(2 (2) 3
(3) 4 ® >
34. The value of latent heat of Vaporization of
water is :
(1) 450 Calorie/g
(2) 350 Joule/g
(3) 240 Joule/g
@ 540 Calorie/g
1X-23

10

30.

32.

33.

34,

@rfw  pflew &bl @i Gl su arfi
auamaian (IDSN) enchgemer G

(1) Garsflen
(2) eflsrsiulgeand

@ 0 LI eliT gLy

(4) PapfACamiLnr

gm @l 50 Hz syflideian whmh
500ms ! Caisgengsd QararHareang.
galuflar senafernid :

(1) 5.8
(3) 254

werpsHaisa GQuipesuraGa Carer

eugsueng Ll WupBlmlughasren
ST TamTLD:

(1) eblens

(2) Sipsso

e uruy @(peilans

(#) =ogmuey

gapabaranm 60° Carewm smishd
@aussLULLL @rer® | swgars
samen g sEné® oL Gu Casrarmbd
Wibukisallen eramenilsans :

(1 2 (2) 3

(3) 4 @5 $

B selurgden e drerenn Qeauliu
wdliay :

(1) 450 sGeorfl/ &lgmid
(2) 350 g®e/&Aymb
(3) 240 @O/ fomb

62

540 sGerfl /£gmb



35.

O

36.

@

37.

Match :

(a) Producer gas (i) Hy+CHy+CO
(b) Coal gas (i) CHy+CO,

(c) Water gas (i) CO+N,

(d) Bio- gas (ivi CO+H,

(1) (@)-(i), (b)-(ii), (c)-(ii). (d)-{iv)
(a)-(1id), (b)-(1). (c)-{iv), (d)-(i1)
(@)-(ii), (b)-(i), (c)-(iv), (d)-{iii)

(@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(3)
(4)

Reddish brown coloured gas among the
following is :

Nitrogen dioxide

Nitrogen monoxide

Nitrogen trioxide

Nitrogen pentoxide

(2)
(3)
(4)

Rust has the formula of :
(1) ALOyxH,O

() Cu(OH),xH,0
(3) Ca(OH),.xH,O

@ Fe05xH,0

38.

0

IX-23

Assertion :

To neutralise the excess acid formed in the
stomach, Milk of Magnesia is taken.

Reason :
Milk of Magnesia contains a weak base called
Magnesium hydroxide.

(1)
(2)

Assertion is correct, Reason is wrong.
Assertion and Reason are wrong,
Assertion is correct and Reason
explains Assertion,

Assertion is correct but Reason doesn’t
explain Assertion.

(4)

1

35.

36.

37.

38.

Pummssis :

(a) epusd eumyy (i)
(b) Heossf aumy (i)
(€) B&F auryy (i) CO+N,
(d) =udfl aumry (iv) CO+H,
(1) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)
O (@) (B)-(i). (i), (d)-(i)
(3)  (a){id), (b)-(i), (c)-(iv). (d)-{ii)
(#)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(3)

H,+CH,+CO
CH,+CO,

Epssam_supmper Genbupuy Sip eumuy

()
@)
@)
4)

MBLImEn L Eens(h

epLrgen Coraméens[H
npLrmen Lanyaysans(
enpLmen WU réens(

S erenugen Geudl eumiour( :
(1)  AlLO,xH,0

(2) Cu(OH);.xH,0

(3) Ca(OH},.xH,O

@) re.05xH0

S :

adpile srésgn sfsOuguren
siflwses pRflawurss Cuwsaléur-
dflén ureww 2 gaydnEl.

&nyemtid :
Quasatflurdlen urawbd 6w
Gephs  srporer  Qusetfwid

ean_rréemavenLd CaramBearang).

(1) spm &, sTramd gaim.

(2) DD LODID SMTERTD Seuml.

app #f, Cugub srremb spep
cdlerd&@amsl.

saupp &f, SenTd STyeRnd SapenD
clileramellereney.

(4)

P.T.O.




39.

0

©

41.

6

0

4)

1X-23

Qil of Vitriol s :

Sulphuric acid
(2)  Nitric acid
(3)

(4)

Acetic acid
Hydrochloric acid

The by-product obtained during fractional
distillation of crude oil at 175°C to 325°C is :

(1)
(2)
(3)

Refinery gas
Petrol
Lubricating oil
Kerosene

Atoms of the same element having different
masses are known as ;

(1) Isotones

Isotopes

(3) Isobars

(4) Isomers

Lichen is a combination of and
which live together in Symbiotic

association.

An alga, fungus

Bacteria, fungus

Bacteria, virus

An alga, virus

(2)
(3)

12

39. eflCflwrd eramCawnl eramiLBeug ;

41.

0 Eh5s Sblab
(2)
(3)

(4)

anplf& suflam
2 g sbleb

oanCrrECarmfls wyflan

Gerers smisFdl aingsdla 175°C apsa
325°C -@ s&sr erawQenrudallmbs
Sl &@d e ubummer :

(1) s585M00 sumy
(2) QuilCGpme
() ewey ererrClemml

@ Log0aT (ol e e (ol em L

leueuGeuy = gD Hlenpaeneariy
Qupmerer @Gr seflwgden g sadr
eramiiL (b,

(1)
(3)
(4)

pCsrGLrensdr
wCsrGLrliyser
mGFTuTisen
pGarClorser

MEESET CTETLIS ____ inmmitb
efflser pridaarhs g
<2 ENLOLI LI EHID.

o urd), LLgrens
(2)
(3)
(4)

urdeflur, wEpens
urdeflwr, seuren

ur#l, epeuren



43. Prions do not transmit infection, because they
have :
(1) DNA and RNA
(2) DNA only

@ Neither DNA nor RNA

(4) RNA only

44. Match :

(a) Comiferales (i) Small group of plants

(b) Cycadales (i) Large trees with fan
shaped leaves

(c) Gnetales (iii) Evergreen trees with
cone like appearance

(d) Ginkgoales (iv) Erect and
unbranched small
plants

(1) (@)-(iii), (b)-(i). (c)-(iD). (d)-{iv)
(2)  (a)-(@1), (b)-(iii), (c)-(iv), (d)-(3)
(3)  (a)-(ii). (b)-(iv). (c)-(D), (d)-{iii)

(a)-(idd), (b)-(iv), (c)}-(i). (d)-(i1)

IX-23

43, Gflwrdrser Cemus0sTn THUGSE-
audliene. gtlanafle Sienau :

(1) yereme LHQD SiT.6TeN. -L&
Gamesm(perara.

(2) y.eTem.e -eneu WL(HD
CaramHerang.

@ g CTEN.GF DML B T.eTeng -f&
Qameimg.qpLuSleene.

(4) emyTeTeng -eveu WL (HLb
ClararHerensg.

4. Qurmsss.

(a) Garafl.QuCGrédev () Hlu eumss
QmaEy
SHT6U TThISET

b) ess&aGLsen (i) eSl&D eueu
Bemasenenr
2 eI
STeuTRSer

(€) BLGLsve (i) Salbl allgal
LUSEDLD LDTDTS
STeulhiser

(d) girCGarGues (iv) Cmymen,
Henanaer
Eeearg Sl

HTEUTTaI&ET

(1) (@i, (b)), (0, (d-iv)
(@) @)-(i), (b)), (c)-v). (d)-6)
(3)  (a)ii), (b}-{iv), (c)-(i), (d)-(iii)
® @), ©)-Gv), ©-0), (@)-i)

13 P.T.O.




45.

47.

(a)

(b)

()

(d)

The bacteria that lives in the small intestine
of man is :

(1)
0

(4)

Pseudomonas

Vibrio cholera

E.coli

Rhodospirillum rubrum

is a fungus used as a biological
pesticide.
(1) Cercospora personata
Trichoderma viride
) Rhizopus
{4) Albugo candida

is used in space travel to
decompose human wastes.

Chiorella Pyrenoidosa
) Anabaena
(3) Laminaria
(4) Nostoc

Match :

Conjunctiva Nourishment of
the lens and the

cornea

(i)

Protects the
inner parts of
the eye

Keeps the eyes
moist and clear

(i)

Aqueous
Humour

Pupil (i)

Sclera (iv) Allows light to

come in

(1)
2)

(@)-(iii), (b)-(id), (c)-{iv), (d)-(i)
(@)-(i), (b)-(1v), (c}-(1), (c)-(iii)
(@)(iii), (b)-{i}, {c)-(iv), (d)-(ii) -

(#)  (a){iv), (b)-{iii), (c)-{i). (d)-(ii)

IX-23

14

45. weflsaflen

a6,

47,

(@)

(b)

(<)

(d)

Ffp @ ela QT
Limdsie fuwir

(1) GCLrGwrermen

(2) AUACGWIr srayr

sr.Garana

CrrG revenufleand mpLiyd

(4)
e l@flwe yidlse
LWemI(BD Lierens :
(1) GeraCarevCumryr GursCan L
? LenyCan@Liton efleny(

(

snrGanuey
(4)

2y Gar Gaemglm
dlenGeueiil Lwendfen Curg wafiss
s\fleysener wLsF Gainul vwauBeug

0

Heardadlursl

@GerrGlyder SeoufemiGLrsr

(2) =y Seum

(3) CendlGerflwm

(4) mrevLrE

Cummsse :

sEymiigeaur (i) Cedsssb,
&l Gl eu gl
UL E5I &G LD
oar” L ioefl&fmg.

<3| (5 G (ii) samweflen

Sreud 2 GTLITSRISENTL)

. urSlEsimg.

SERTLITENE (iii) & es0renam
FFOT&ELD
Agafleursayn
aeusslng.

avdiafiym (iv) qefenw seamentien
o arGer
SiaEuydns.

(1) (a)-{iii), (B)-(ii), (c)-(iv), (d)-(i)

(2)  (@)ii), (b)-{iv), (c)-(i), (d)-(ii)
(@)-(iid), (B)-(i). (c)-{iv), (d)-(ii)

4)  (a)-{iv), (b)-(iid), (c)-{i), (d)-(i)



49,

Identify the correct factors which determine
the endangerment of species.

(a) The population of the species is less

than 150 adult individuals.

(b) If the population is less than 250
individuals and is continuously
declining at more than 25% for the past
three vears.

(c) The population of species will decrease
by more than 80% in 10 years.

(1) (a) and (b) only

@ (b) and (c) only

(3) (a) and () only

(4) All the above

The
wider.

make the pupil of the eye

Voluntary muscles

(1)
(2) Circular muscles

(3) Striated muscles

O]

Radial muscles

IX-23
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9. gm GHUECL Geb Py

50.

& (meumulleb 2 & e g Grem LIS H
Siwrafllésgn sflurer srrefisamas

Caipbs@ssab.

Andlemasaildn Qrss eranailsms
150 -&@b @enpeuns @)amsse.

(a)

b) Apdlemuseller Qwrss oanailsms
250 56> @enpauTs G, L
2 anhsaila 25% @D flswrs
Beopwssmigu Hlee.

(c) &Hpdleiuseiien Clonds eranafsans
2Hss 10 HanBHsafld 80% &@0
flswnrs Gapussmigi Hlaa.

(1) (a) oppid (b) LB
(b) @D (c) WD
() (@) wopb (c) L (HD
4) Guhsmblu seendgsib

& i et |
SjswirEEdlamen.

LT 6t G i WL

(1) paailFmsurer sensaar

(2) @LL§ senssar
(3) efls sesser
@I Crigwe sensser

PT.O.




51i

52.

53.

SOCIAL SCIENCE / sepa inflefluied

Arrange the following in chronological
order :

(a)
(b)
(€)
(d)

O

(3)

Hunter Education Commission
Macaulay’s Minutes

Sir Charles Wood's Despatch
Wardha Scheme of Education

(b), (), (@), (d) (2)
(b). (d). (@), (c) (4)

(@), (d), (b). (c)
(), (a). (d), (b)

The newspaper which brought to light the
miseries of the Indigo cultivators of Bengal :

(1)
(2)

O

4

Young India
Swadesa Mithran
Hindu Patriot

Calcutta Journal

Assertion (A) :
The difficulties in industries were complicated
further by the construction of Suez Canal

Reason (R) :

The transport cost was reduced, which made
the British goods cheaper in India.

(1
(2

(4)

(A) and (R) are correct
(A) is correct but (R) is wrong
(A) is correct and (R) explains (A)

(A) is correct but (R) does not
explain (A)

IX-23
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51.

52,

53.

0

Weneumd Blaspejsener srasdroliiig
aflesliu@ésea :

(@)
(b)
(c)
(d)

ameirL_it saellEEp
QuasnrGeellan @fily
& grieen 2. swell Sihlbans

eumigr saelld H L1

{a), (d), (b), (c)
(c), (a), (d). (b)

(b), (c), (a), () (2)
@) ). @ (@), (@

aksre Saufl srEugurerTsatien
gurisame Geaefléssfne Cmmanr®
aups Galiflggmer :

(1) wi @sdlur

(2) sCpmblgiyen

O 9w Cseubsan

(4) sdsssr giad

SanD (A) :

Gwen srdeuml sCBurandSn@l Gen
@rdw Asmfldsean Coabd Hisamas
SHHES5I-

snyewnd (R) :

EB& Curémeuyps Gesaclaeans
GEopsss o @hdwuredld 9fL g
@umm senen welleurengns wrbilwis.
(1)
(2)

6]

(4)

sapm HDID ETremnd Fil.
safiy #f enrd) sryend SHeumy.

sapp #f wHpd sryed smpenp
shlard@Amng.

safim &M emre STTEWD Shenn
eflendaafildoeney.



54. The Portugese East India Company moved | 54. Curisgsfflu Sypsdidu sbCuel
its capital from to 1530 gy Gaw(h FenaEsanT
in the year 1530, Bl b &@ wrhblug,
(1) Bombay, Cochin (M umnbCu, Qsrédler
(2) Cochin, Surat (2) Gareflen, @rs
(3) Goa, Bombay (3) Gasreur, umbCu
(® Cochin, Goa @ Gsrifien, Canaur
55. The faithful commander of Velu Nachiyar | 55. CGaigy préflurfiar poQsmsisiu
was ; uenLggerul :
(1) Chinna Marudhu (1) Hemen wmsy
@ xu 0 oso
(3) Vellachi Nachiyar (3) Ceucrendfl praflwmi
(4) Periva Marudhu (4) Gufiw wmg
56. Identify two people who fought for the [ 56. Cgaugrflaefien eilBsemassrs Curymgw
emancipation of the Devadasis : Emeuf
(1) Raja Ram Mohan Roy and Jagan (1) @rrgryrd Gurasergmil whm
Mohan Roy. QezaanCuomasenymi,
(2) Raja Ram Mohan Roy and Ishwar (2) @orgrgrd Gurseryrl wHmn
Chandra Vidyasagar. weveur sidly sblFwrsrat
@ Moovalur Ramamirdham and @ ppaugnt @rmomdlisd wHmb
Dr. Muthulakshmi Ammaiyar. L& psgeorsll ibenowim
¢
(4) Lord William Bentinck and Perivar. (4) ebldellwd Guemgn Sry wHmb
Quiflwim
IX-23 17 P.T.O.
— —— — m— ——




§57. Choose the wrong statements :

(a)

(b)

(€)

(d)

()
(2)
(3)

Bombay was under the control of the
Portugese from 1534 onwards.

Damarla Venkatapathy gave the
English the grant of Masulipatnam.

In 1687, the English East India
Company transferred its headquarters
from Surat to Bombay.

The Government of India Act of 1937
introduced Provincial Autonomy.

(@), (c) and (d) only
(a), (b) and (c) only

(a) and (c) only

@ ) and (d)only

58. In India the police system was created by

(1)

(2)

6

(4)

1X-23

Satyendranath Tagore
Sir Elijjah Impey
Lord Cornwallis

Lord William Bentinck

57. gapren mpnsmers CaiHosHEsayD :

(a)

(b)

(€)

(d)

(1)
(2)
(3)

1534 dmps wbumd Curissé

Efwnsaeflar sCLUurlige
Qopsy-

D (@ &l L U L I &8 LD Huoieom
QeuiasL L T e LIeu e
<2 i fl CawmeEs STENDTE
euprEISUILIL L &)

ayife SpsdpHu Hpaens 1687
SD BT BB FEWEHLW
waegeng Grsdledlmba LbLMLSS
wrphlwig.

wrsren swur_faw, 1937 -0
s @i SrE SLLD
SiflppaiiuBsSus.

(), (c) pmb (d) WL Hib

(a), (b) H@D (¢) WL [Hib

(a) wHob () W BHID

0O © wppo @) b

58. @pfwrelléd waaapselds sSreaid
Fenpeni e heursEsur

(1)
(2)

s&SGCWEETBIS Srami

& ereblggm @oGu

@ srremsureilen Gyy

(4)

eflellid Quiaorg i 1ALy



59. Match the following :
{a) Alluvial Soil (i) Leaching
(b) RedSoil (iiy River
valleys
{c) Black Seil (iii) Iron oxide
(d) Laterite Soil (iv) Retains
moisture

(1) (@)-Gii), (o)), (e)-Giv), ()6
B @G ®-E), ©-v), [@-0
() (@G, ()-(iv), (©)-), (d)-(i)
(@) (@-Gv), (b)), (c)-Gii), (d)-Gid)

60. The Continent which is located in the four
hemispheres of the carth :

(1) Asia

(2) Europe

@ Africa

(4) South America

61. Identify the incorrect pairs :

(a) Mozambique - Rice

(b) Ethiopia - Cocoa
(c) Sudan - Cotton
(d) Ghana - Coffee

O vad@ @ GHandE)
() @and®)  (4) (a)and ()

IX-23
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59.
(2)
(b)

()

(d)

60,

b61.

Cummgs :

GQUERTL G Wwewr (i) &eUHSED

Gl &b atr (i) 2pHmE
Fuobleuaflsar

sflsd) weawr (i) @miby

<2 &anen (b

STeNET Lot fiv) eql

(1)

UpSens Hhs
MEUSE&

Qrnense
(a)-(iii), (b)-(ii), (c)-(iv). (d)-(i)

© @) b, ©-v), @-0)

(3)
(4)

(@)-(i), (b)-(iv). (e)-(3). (d)~(iii)
(a)-(iv), (B)-(i). (c)-(ii), (d)-(ii)

yellferr preng Careriusefigyb
Lielluyater sawriDb

(1)
(2)

O

(4)

S FUIT
Gl
B TRWILE = 4

Glpen Gnfl&sT

Seupren Gleneamsenars s Hlweyld :

(a)
(b)
(c)
(d)

(0

(3)

Cwmrambilbls - Epe
esSCwmilur - CensCGar
L - LEEd
HITGONT - &mSl

(b) oppid (d) (2)  (b) HDD (c)
(a) opmib (b) (4) (a) LHYD (c)

P.T.O.




62.

63,

The most populous cities which ranked
second and third in the world respectively,
according to the World Urbanisation Report
2018 are :

(1) Tokvo and Sao Paulo
@ New Delhi and Shanghai
(3) Shanghai and Mexico

(4) New Delhi and Tokvo

Consider the given statements and choose the
correct option :

Assertion (A) :

When we go up in an aeroplane, the
atmospheric pressure becomes lower than the

pressure of the air inside our ears.

Reason (R) :
Our ears pop because they are trying to
equalize or match the pressure,

(1) Assertion is correct but Reason is
WTONg,
@ Assertion is correct and Reason
explains (A)
(3) Assertion is correct but Reason does
not explain Assertion
(4) Both Assertion and Reason are wrong

The metallic ore available in Kanjamalai is

(1) Aluminium ore

(2) Copper ore
(3) Zinc ore

@h‘unme

1X-23
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63,

o @& pEFLWLrEsS daiéss OO,
2018 -@enr U eadfld ufls wesm
Qgrans Caran, wrpsriseafa @yan(
whmith apenpmbd G mssnerls Gupiusne
apenpGu

(1) Gur&dGum, smurGem

e Ugiaevell, FmmaismL

(3) sriasmi, QuwsACsr

4) yzsgeel, GLrsfGur

Semaumin smpoisensT S rmlpg silwuren

elen_enwig CaipblsHésayb

sappi (A) :

prid eflwrengdledr Cula QFdghp

Qurupgs wellvar o SWizwreng

Ehee@lLw Srasaid o arer srhdlen

Spdssens el @enpeuns o dreng.

sryewo (R) :

ETHH  ApHsHes suLLbiHD

Quraps pb STHET NS GHE

Glamerdlenmen.

(1) &sapm &fl enred sryemb geum).

@ safpp &f Cuogyb smremnd sapenp
shlend@&lng.

(3) spp &M senmd sMyemd sapenm
ehlarésehldvena.

(4) smhm. sryewnd @rewHin seum.

sers waeaulld HaoLsghd wCarss
F0E

(1) =gdalus srg

(2) smiss sna

(3) BsEBTES BT

O 9ovus ss



65. In the given map of Seismic Zones of India, | 65. @&rHasLul Heren suenyuUL §He

the shaded area belongs to which Zone ? flpdlLoucL ugd @ifwureder Ha
Sifiray Lo o7 L v i & @rfl by ThHS
weTLgble) DL miED ?

(1) Zonell (2) Zone HI (1) wewLewbd I (2) werLeb I

(3) ZonelV ® Zzonev (3) waT_eb IV @ wemLaib V
66. Find the correct pair : 66. sflwuren @enemenws Caihdsasab :

(1) * - Important land mark (1) * - {yjéﬁm B hisear

(2) .A. = Hotel (2) _A_ - L_ERTEUSLD
(9] -H- - Picnic Area &) ﬂ' - apperSseLn

4 @ - Camp ground “ @ - @PEMD engTeD

67. The value of money and price level is/are: | 67. uemgflen wlon feauliar setayb

(1) directly related (1) GCprwenp GgriiyenL.wig

@ inversely related @ aélfap GsrryeLwis
(3) not related (3) Gsrfrubbs
(4) directly (or) indirectly related (4) Cpr DG erdliwenm
Qe g
IX-23 21 P.T.0.




68. Among the following, which has high

liquidity ?

0 Savings

(3) Bonds

Insurance

Mutual funds

(2)
(4)

69. “Father of Public Sector Undertakings” in

India is :
(1) Pandit Jawaharlal Nehru
(2) Prof. P.C. Mahalanobis
(3) Dr. B.R. Ambedkar

(@ O V. Krishnamurthy

70. In the reign of Turkish Sultans of Delhi the

lower valued coin was known as :

@ Jittals

(4) Rupya

(1) Tanka

(3) Cupperoon
Match the following :

Lok Adalat (i) Relief to the rural

people

(a)

(b) Session Courts (ii) Long pending cases

(c) Mobile Courts (ii) Criminal cases

Settles the cases in
the presence of Public

O @-v), b)), ©)-6), (@)
(2) (@), (b)-Giv), (c)-(0). (d)-(i)
(3) (@), (b)), (©-Giv), (d)-fid)
(4) (@), (b)-(iv), (c)-(i), (d)-(i)

Fast Track
Courts

(d) (iv)

1X-23

68. EpssamLeuppe ag s Frenws
semenio ClEmamg ?
@ Gsfly

(3) ugsBriuser

(2) srins®

(4) wugsour S8

69. "'@ndwurelen Qurmsgeon Hpeuear

saflen sheng'” eran enpessuu U
(1) uesmgs meuanierd G

2) Gugr. 9.8, waperGanmilen

(3) LmasLr 9. subCugsmT

@ i ol Agegemepips

70. QLadl gmsd sagrasdar L 8
stagda wHlY GODHS bR wBSET

GTEMml <SENLpESLILLL 6.

0 fore

(4)

MR &

(1)
(3)

&Uigment emLS
71.

(a)

Quirmsas :
(i) Sgmoliyp wasetlen
Euisemens Sisse
fam_ sre Hayena

U P& GEET
GHmefic aupsEser

Caors
SBTS
BT T
$Buoeis
BLLor(Hib (i)
ffwemmid
aSlenyey
B&lwenpib
(2)
(3)
(4)

(b) (ii)

(©)

(d) wéser aparafienaufia
aups@aenad STE50
(a)-(iv). (b)-(iii), (c)-(3), (-(ii)
(a)-(iti), (b)-(iv), (c)-(3), (d)-{ii)
(@)=(i), (b)-(id), (c)-(iv), (d)-(iii)

(a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

(iv)



72. Pick the odd one out :
(1) Central Reserve Police Force (CRPF)

@ Special Frontier Force (SFF)
(3)  Central Industrial Security Force (CISF)

(4) Border Security Force (BSF)
73. The Juvenile Justice Act was passed in the

year :
(1) 1986 @ 2000
(3) 2012 ) 2010

74. Choose the right pair :

(1) Article 29 (2) - Prohibition of
discrimination on grounds
of religion, race, caste,
sex (or) place of birth etc.

{2) Article 25 (1) - Equality of opportunity in
public employment.

e Article 26 - Freedom to manage
religious affairs.

(4) Article 15 - A ban on discrimination in
State-aided educational
institution.

75. Pick out the wrong statement(s).

To be a member of the Legislative Council.

(a) Ome must be a citizen of India,

(b)  One should have completed 40 years of
age.

(c} One should be the member of the
Legislative Assembly.

(1)  (b) only O ®and(

3 @and() @) (a)only

IX-23 23

72.

73.

74.

(1)

(2)

(4)

75.

Qunmbsrs garons Coib0sdHése :

(1) wiHuw Asiel smaud Len (CRPF)

@ Apliy srdenaiyp uenL (SFF)

(3) wadu Asmfles LrgsTiy L
(CISF)

(4) erebeney UTEIETUY UenL (BSF)

Aprir fHEs L b Quppliul L ey :

(1) 1986 B 2000
(3) 2012 (4) 2010

sfluner Gevaraws CoipbsHaésey :
Sfie) 29 (2) - swwib, Gend, srd,
urellend eidag

L 1 T T

s Huapfien

<3|ig Lien L ulled
ur@UBSSIeuDES Henl
Glaiged

Qurgy Geuena
eumiGia s 2 flenw
swow  elleusTyiisenar
plireuflé@n sgpinon
=786 egel Cupe
saell Snyeuarisafla
umGuT(h srLg senL

pauprer  sapmy | smppseers

GaipesHssa,b.

sLiLweap Cuama sgulblarrs

Caip@spHasiuL -

@ @pPub Guvsans Gnmss
Ceuasr(Bib.

(b) 40 ewwg BrvGuerms Bmssea
Geuaim(Bid.

(€) #liweap emilenrrs 8 mésea
Geugin@id

M Bwupd € ® wipd

(3)  (a) wpmed () (4) (a) LLGID

difley 25 (1)

Slifley 26

@ifley 15

PT.0.




MENTAL ABILITY TEST / wengdlmen Ggiey

Directions (Q.No. 76 to 84) :

Find the missing number / letter in the following

sequence.

76. 720,120,24,6,2, 1, ___

(1) © ) ()

C

(@) 15

77. 3,4, 12 39,103,

0 228 (2)

(3) 319 (4)

78. 0,25,10,17,28, __

e

(3 43 (4)

(1) 40

79. 0, 6, 24, 60, 120, 210,

0 336 (2)

(3 290 (4)

1X-23

Ya

1

238

326

41

a7

240

504

auflpenmas (elle eTewr 76 (S60 B4 aueny) :

Qeraumd Garrauflensubld alluL e |
crpdgasamen s (Hlliq&seLD.

76. 720,120,24,6,2,1,
(1 o | (2)

O

3 1.5

77. 3, 4,12, 39, 103,

@ 228 2)

@ 39 (4)

78. 0,25,10 17, 28,

o

(3) 43 (4)

(1) 40

79. 0,6, 24,60, 120, 210, _____

@ 336 (2)

(3) 290 @)

1a

1

238

26

41

37

240

504



g0. | 3C |27E| 9G 80, | 3C | 27E | 9G
4D | 2 | 6] 4D | 7 | 6]
7F | 21] | 3N 7F | 21] | 3N
(1) 2B (2) 10G (1) 2B (2) 10G
@ 24G @) 24F @ 24G (4) 24F

12 \ &4 |121 14

8 | 17

v +]
i
~J
L |

M o 0 :

(1) 0 O 2
(3) 4 4 5 (3) 4 4 5
7 42 81 b4 42 a1
O OO L () w(aye (D
3 7 9 3 7 ]
(1 12 @ 15 (1) 12 2) 15

@ 18 (4) 120 Q@ (4) 120

et 25 PTO.




83. BK,DP,GT,?7, PY

(1 Jw

G xw

KV (4) IV

(3)

84. q___pqqr__qqrp_—_qrpq9q9__P19

@ rpqr (2)

(3) rprq (4)

Pqrp

rqqr

85. Ina certain language 123 means “smart work
pays”, 345 means “study very smart” and 516
means “study and work” then the code for

“and” is :
(1) 5 9 6
(3 1 4 3

86. In a certain code language Z=52 and
TAMIL =110, then MATHS=

(1) 120 (2) 63

0 =

B7. [lfred iscalled blue, blue is called white, white
is called black, black is called pink and pink
is called orange, then the colour of milk is :

(3) 61

(1) white

@ vl

(3) pink (4)

orange

IX-23

83.

Bb.

B7.

BK, DP, GT, ?, PY

TW
KV

(1
(3)

erzw

4 Jv

q__Pp9q9r—4q99qrP—9qrp499—P9

@ rrar (2)

(3) rprq

pqrp

(4) rqqr

gm GHS_E wepuid 123 aaug
“smart work pays” eremejid, 345 eranugl
“study very smart” eremeyib, 516 eTernLIZ
“study and work” eremeyuy Glumgmen

gswmben, “and” eranugbaren GG :

@

(4) 3

am GHGLH wepuld Z=52 Lppb
TAMIL =110 ecraflés MATHS=

1) 120 2) 63

@ 122-

faiiy eréruens Baib eremayb, Beuid
eranuens Cleusraner erameyth, GeusTanar
gaTueng SMmULY eerayd, &MUy
saums @ergsdlailiy eratayld, [@eTeEs
feuliy ea@TumS SWTEHSF TaTaD
Senpssred, urelen Hmb :

@ &Y

(3) @evenfleuliy () BrEHs .

@) 61

(1) Geucranar



88. If L denotes ‘%', M denotes * +’. P denotes
‘+" and Q denotes “ -’ then the value of
SMI16L6P20S is :

(1 9 (@ 5

@ 0 (4)

89. Square: Area:: Cube:?
(1) Perimeter @ Volume
(3) Circumference (4)

=1

Area

90. How many numbers are there between
1 to 100 which are divisible by 9 but not

divisible by 36 ?
1 11 @ 9
@) 8 @) 10

91. ldentify the correct diagram from 1,2,3,4 to
which the sets of words belong.

Scalene triangle, Right angle triangle,
Triangle

(1)

o (@)

o (D

OO
UG

IX-23

B8, L eramueng ‘x’, eremayld, M eremueng -+’
eanayd, P earues ‘+° erenajb, Q

eraeng - eremayld GsmewmLmed
BM16L6P2Q5 eraugen gl :
(1) © (2) 5
® o 4 -1
89. Square : Area :: Cube : ?
(1) Perimeter @ Volume
(3) Circumference (4) Area

90. 1 pps@ 100 aiefydrer eraEwsaia

9 - UGULESIGW BLENTED 36 ~e
UEULTS erarraatian eramantlsens ?

Q -

4) 10

1 11
(3 8

91. QarPésliuL 1,23, 4 uiisefielmbs
Geramd  Gereudps Gowps
uLgflenan Gairey Gals,

SHFwuEs wsCaramb, CsmGamanr
ap&Garemid, pa&Gamemid

(1)

o (@

o (LD
(4) O

27 P.T.0.




92.

03.

95.

1X-23

in a row of students, Karthick is 11" from
either end of the row. How many students
are there in a row 7

(1) 20 @ =

@ 22 (4) 23

If 25™ of August in a year is Thursday then
the number of Mondays in that month are

My 3 (2) 4
5 4) 6

Anbu pointing to a girl said, “The girl is the
wife of the grandson of my mother”. How is
Anbu related to that girl ?

Son
@ Father-in-law

(1) Father (2)
(3) Husband

The Triangle in the figure depicts the villages,
the Square depicts the unemployed women
and the Circle depicts the educated women.
Then educated unemployed women are
represented by :

Dand E
Gand E

() EandF (2)
(3 BandC @)

92.

93,

94,

95,

em GALEOLL eafostdd odrer
wremeursaficy anisdls eremuieur @)
weasefdlmhsb 11 g GLsHo
Bmsdpri erafle) seuaflensdia o drer
wremreuiraeT srsenen GuT 7
(1) 20 Q
@) 22 4) 23

@i Sy s gD 25 - Gahl
elwurpsdlpeno aafléd, Swwrssso
crigenen Hrius_Spenosdr aumb 7
(1 3 (2) 4

5 4 6

Sy erenueui g Clusmenenr & ig&
arly "Bl Cues erargienL W
2bwrellen Cupaflen  wenemell”
crandlpri. 2ipsl CQueanaflpeE e

erenan e may ?
(1) o (2) sew
(3) =ewmausn @ OIS

Qar@éstuL uLsdld péGareambd
Arrosass GHEADng. F&|7LD
Camalldvar Quarsmerd GHlsfng.
alLb ugss Duansaeard @hlsfng.
erafled UG &S Camauldar
Quanseeard GlEGL TP Esa
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The number of triangles in the given figure

I8
(1) 15
(3) 18

B

(4) 20

97. Find the missing part of the given figure.

B

Answer hgures
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(1) 15 @ 16

(3) 18 4 20
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99, Identify the figure from (1), (2). (3), (4) which
is the continuation of the given figures.

DOB®:
VOO

(1) (2) (4)

100. Choose the correct mirror image from the

alternatives.
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A Y YA

(2) 3 (4)
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